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Worksheet # S (Total number of points you can getis 3 pts)

1. At what temperature T and pressureP will H2 bein a corresponding s
state with CHa at 600 K and 2.5 bar pressure? The crilical temperatures are Tc =
33.2 K for Hz and Te=190.6 K lor CHy; the critical pressures Pe= 13.0 bar for Hz
and P.=46.0 bar for CHis.
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1. In an open beaker at 400 K and 1 bar pressure, 1 mol of zinc are caused
to react with dilutesulfuric acid: Zn + H2S0s = ZnS0s + Hz. Calculate the work

done by the produced hydrogen gas, assuming it bchaves as an ideal gas and
T=const, P =const.
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2. n mole of gas Nz occupy a volume of V3=1.00 I attemperature T:1=200 K
and pressure P1=1000 KPa. Determine the volume V2 of the same amount n of
N2 at T2=400K and P2=250 KPa. The compressibility factor for Nz is z1=2.0 at
T1= 200 K and P;=1000 KPa; and z2=1.0 at T2=400K and P>=250 KPa
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